OtpuniatenbHbie IKCIOHEHTHI 10

309,9+ 100 =
789,8 + 1007 =
125,5+ 1007 =
100D =

4x10* =
~1x10=

2x 107 =
3% 100D =
463,8 x 100% =

2x 1002 =

Jara: Onenka:

6x10% =

10(—2) —

264,1 % 1009 =

10(—3) —

514,4 x 1002 =

560,7+ 100 =

10(—1) —

516,6+ 1009 =

10(—3) —

7x 107D =
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dek i

OtpunaTenbHble KCIOHEHTHI 10

Nwms:

309, 9 = 107 = 309900
789, 8 = 1002 = 78980

125,5+ 1072 = 12550

1000 = 0.1
4 x 10% = 400
~1x10=-10

2 x10°% = 0.0002
-3x 107" =-0.3
463, 8 x 10°% = 0.04638

2x 1072 =0.02

Jlara:
6 x 10% = 600

1072 = 0.01

264,1x 107 = 0.02641
107 = 0.001

514,4 x 1072 = 5.144
560,7 + 10°% = 5607000
1077 = 0.1

516, 6+ 10°% = 5166000
107 = 0.001

7x 1000 =07
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Orenka:
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